ZE AR
MU DIRFMERNT, FASBELOZOO TR THO . ZRFRE 1 HIIRR 15
(BRI ITRZET2HDOTHEH D XA

BEEZ%F & H



(NFHER Y - IXL) FEEHHAWHBELI - WgHt

s EREXEEY FHHONS

14 B CRR) I it Bl ) B




GIN == E0-0001
I E R
R 13 R EFBEITRAR
REHES BErE WH]  06—irxk—00007-10
EEEE 0
HEL
38 F A X 43 1 EfaHAR
32 F BT DX 20 BRUENT (IBTIEHET)
H{lE A R 00-06. 06. 10 (0)
AR AR 1 Y&l
77 AN
Y H i1 AN
AIHAE (%) 0
THREXS 17 FHMERB
i TH - S T3RRT 19 WERL
FHIPRAE X 53 03 MIELZWV
BAIBRMERY 00 BEBHELE 0%
BSREWER XS 00 FAFERL
Bi—iEE R 00 HUfI{E# L
ZEEEIY 02 EEEWEHY
J R BAHIERREL 04 4388kELE
06—k#k5%-00007-10 B I B
= EH0-0002
THENRE
HE - TR BTARRE 2 | B 47 B Y] & i =
Z = S X1000
TAIY Y1999 (a7 01)
A (EX YD) STD06004 00
HWITHOBE A=1, B=3
BERUEMT T VER [FERO]
: 0.46 ha T %50 -000153% 060610
M (22X Y) STD06004 00
B TEROHE A=2, B=3
BELEITIX D VWEE [FENO]
: 0.6 ha T 550 -000283 060610
T (X)) STD06004 00
HWIHOBE A=1,B=3
LA [FER@]
; 0.13 ha T H50 -000383= 060610
TFAN(EAD) STD06004 00
HOTEOBE A=2, B=3
deserrrdt [FERO]
: 0. 05 ha T 550 -000453% 060610
T (&Y ) STD06004 00
O LIAEOHRE A=1,B=3
AL BE [FERE]
i 0.51 ha MET %0 -00058% 060610
FEERER Y1999 [2NEZY)
jEEA STD05023 00
AR =3
AR L20A=RAFAR6007 X T 3R20%
FRAFA$6004=5, 0007 /ha X 0. 12ha 120 P ML %0 -0006FF 060610

06—s#iciieik—00007-10

B oW R




= E0-0003
TEHNRE
BB T - T AHRE # & | B 47 H i L] =
et STD05024 00
AHERE A=1, B=3
oA 6 =10enski# Hebn (%) FfRsER0% 120 & BT 0 ~00075% 060610
TN STD05025 00
AR A=1,B=3
| 120 N M #50 -000855% 060610
E STD05026 00
AHERE X A=1,B=3
120 A T %0 -00095F 060610
A STD05027 00
AR A=1, B=3
120 S ML %0 -00108% 060610
NIRIERR STF02001 00
A (5B A=21, B=110, C=5
SEWREEAE (L) =110m
: 4 m 3 T #50 -001185% 060610
FoT T v 7 ER A t R STF02020 00
% A=2, B=13, C=3, D=1, E=14. 4
PEMEI4. dkn  BRTE ERAT
: 2 m 3 ST 50 -001283% 060610
T NT  ZiE A4 ¢ Rk STF02020 00
% =2, B=13, C=3, D=1, E=47. 6
PEREAT. 6km  FETE RAT
; 2 m3 T 550 -001453% 060610
[EH TR |
R 70004
: =
06-skickiok-00007-10 B W&
= EH0-0004
TEHEANRE
#%B - THE - TR ® # | B B it £ i ks
VA o 25 BB T HI B 0001 00
EF0. 031t/ X 1204 DEHIAR Y 43
HREERAARE T v 7 TS (ZHRT) ~4, 17319 /1 060610
: 2 t 8
VA A AFEBIREITERIEAR W0002 00
EA0. 031t/ X 1204 D5EHE 4 55
B (HE0T) -2, 000M/t 060610
: 2 t 8
BEE{TREE
E =
BB (TR F R,
it T
BRI E T
F
e il
REARE
#
R i
06—******;00007—10 5 B R




= H0-0005
THENRE
[ GCRR B Ry v = & BHOfL H i i =z
T Hffitsst |
EERERE
EET g
%
e
06—******AI00007—10 B I R
e n H0-0006
TA(EXD) STD06004 ﬁlﬁ I $ ﬁﬂ i% ML 0 -0001E3%
WITHOHE GHUEIT I DWEN [FEEO] 1 ha By
4 - B OB e X #% & B4 fili & %8 =
FHERR RTPC00001
8.03 A 7.3%1.1
1
EBEHER RTPC00002
5.28 A 4.8%1. 1
' 1
BT #01
2 %
kR BEALY D k% 1 ha
A=1 B IEOBRE B=3 THAEREER 80%L2L |k

06—kxx4x—00007-10



Yire B EH0-0007
TRI(&EAD) STD06004 jjlﬁ :I: %‘ 'fﬁﬁ i‘% T E0 -00028%
BOTECEA BRIEMIDbWEN [FENO] 1 ha E1))
4 B - B O 2 F 5 & | B {7 B i & il =
RERERR RTPC00001
9.13 A 8.3%1. 1
1
ELmEER RTPC00002
0.99 A 0.9%1.1
1
FEMER #01
2 %
kR BALE Y k% 1 ha
A=2 WP TROE & B=3 AR s0npl L
06—sicieik—00007-10 B I B
S B4 E0-0008
TAI(END) STD06004 jj‘ﬂ_" I $ 'fﬂﬁ %E T #50 -00035%
W ITHEOEE JesRrcdk [FFEE@] 1 ha EL)
4 - B o 2 r 3 & | B {7 H fili & G =
FHIEHER RTPC00001
8.03 A 7.3%1. 1
1
EBIERAR RTPCO0002
5.28 A 4.8%1.1
1
TR #01
2 %
F R BATH Y ok 1 ha
A=1 BOIAEORE B=3 AW s0%Ll |k

06—3eiickk—00007-10




iy B4 EH0-0009
TR D) STD06004 jj‘lij» I E‘ 'fﬂﬂ i‘% ML 0 -0004E3%
B ITECEE Jeserrirdt [FERRO] 1 ha E))
4 - B O e F % # | B {7 H il & i %
FHIEXER RTPC00001
9.13 A 8.3%1.1
1
il (=== RTPC00002
0.99 A 0.9%1.1
1
PR #01
2 %
*ORBEALY Y ko 1 ha
A=2 B TENES B=3 TEAREESE 80%LL L
06—##k35%-00007-10 5 I R
Yy B4 EH0-0010
TAI(EAD) STD06004 jj‘m I E‘ 'ﬁﬂi i% WL #50 -00055%
BWIHOBE A5 E [FEHEG] 1 ha EL)
4 - B ok e Y % B | B 47 B fii & . fii %
RHEER RTPC00001
8.03 A 7.3%1. 1
1
EBRIEER RTPC00002
5.28 A 4.8%1. 1
1
FHMERR #01
2 %
kR BAALL D k% 1 ha
A=1 B TAHOBE B=3 TEAREESE 80%LL |

06—kx44x—-00007-10

B W

[




STD05023 jj'ﬁ_j: I % {ﬁfl % BT 50 0006535 E0-0011

ARA 1 204=F2 17 A 6004 X il {%5220% FRTEA$860045=5, 00074 /ha X 0. 12ha 100 N ER)
4 - B O ke L 8 ® | B {7 H i & Eicl i =z
RHRIEER RTPC00001
0.18 A 0.16%1. 1
1
ELmIE¥ER RTPC00002
0.18 A 0.16%1. 1
1
FRMERR #01
4 %
FEHEOA4%
% ok sk B Efk K ok 100 F
Kk BT D kok 1 S
A=3 HTREERKE N
06-#kxxx%-00007-10 B ol B

STD05024 jj@ I $ ﬁfﬁ i% WT 50 -00078% F0-0012

{RFRA: ¢ =10emoRfH H=bm (A% B{kE20% 100 PN El
- o X ® # | B {7 H & il fii =z
RTPC00002
0.25 A 0.23%1. 1
1
BEBREXR RTPC00001
0.25 A 0.23%1.1
1
FEAER #01
6 %
* %k kA E K ok % 100 P
ok BAAIE D ok ok 1 N
A=1 1 0 emskdi B=3 FRERRE

06—sskkx%—-00007-10 B W &



ﬁ/ﬂ_j: I %‘ ,fﬂfﬁ % L 250 -00085 % Ho-oos

5E7 STD05025
AL 100 7 B
A A # FEEN B il & 4 ffa ES
TwIEER RTPC00002
0.23 A . 0.21%1. 1
1
EEER RTPC00001
0.23 A 0.21%1. 1
1
FEMERR #01
8 %
%k G Efk ok ok 100 7
KR BAIH Y k% 1 E
A=1 1 0 cm3kiis B=3 FREERRE
06-setoioicior—00007-10 B IR

=4 STD05026 jj‘/@ I i ’fﬂﬁ i% W 850 -00008% FH0-0014

Gk A 100 & eVl
CEN N . - S/ P04 # | B 47 B fil & el {5 £
Sl (=== RTPC00002
0.20 A 0.18%1. 1
1
EBEXR RTPC00001
0.20 A 0.18%1.1
1
SRR #01
9 %
* sk ok A EF ok %k k 100 PN
kR EAIE D %k 1 P

A=1 1 0 cmRii

B=3

mET

06—s#ksiiik—00007-10

B W




fn B4 EH0-0015
k) STD05027 jjlﬁ I $‘ 'ﬁﬁ % BT £0 -00108%
ARSI 100 P =L
& Bk e v % & | B 47 H i & # {5 %
EBIEER RTPC00002
0.33 A 0.3%1. 1
1
B2 #01
1 %
%k ok BBk k% 100 ES
kR BEATY D ok ok 1 N
A=1 1 0 cmRiis B=3 TR RE N
06-sk85-00007-10 B I B
f PR H0-0016
NIB IEH STF02001 ﬁlﬁ I @ 'fﬁﬁ % ML 20 -001183%
Akt (GEk) SEEREE (L) =110m 1 m3 4y
4 B - B O e X % # | B {r H fif & i) fi =
TEmIEER RTPC00002
0.26 A
1m3¥%Y +00
m 3
kR BATH D k% 1 m 3
A=21 K (F=H) B=110 7R BEHE (m)
C=5 EARZE (m)
WiEPRRE = HOKTZERREE () + 6 * h(FEEZE @) = 110. 000000000 + 6  5.000000000 = 140. 000000000 (m)

06—kx44%—00007-10

[}




e Y4 EH0-0017
BT NT v 7 ERA Tk STF02020 jjlﬁ I E‘ 'ﬁﬂi i’% WL %0 -00128%
E PREfE14. 4km PR BAT 1 m3 E
4 R BB o L # 2 | B {r H il & el =
X7 Ty riElR STL01018 WL #0-0013%3%
4 t R 1.00 5
BRERIR : BAF (RE)
I1m3%Y +00
m 3
R GER TRV ¢
kR BEATY D ok % 1 m 3
A=2 4 t TR B=13 *
c=3 Ny re-31LEK0. 28m3  (EAHO. 20m3) [#E2] D=1 BERIL - BEF
E=14.4 SEMEEERE (km) F=3 LEELISDBE (B =4.8)
BRI EMR LR VT =60 x Q% E / M
=60 * 1.900 * 0.9 / 86 = 1.190 (m3, h)
VA TNVEAL M= B *xL+ «
= 4.800 * 14.400 + 17 = 86. 000
Q: fEH+E (m3)
E: {E¥EshR
L : iBHREERE (km)
B EHRIRIRIC & B4R%
o : AT OMOIERIC X HRE
06-setiior—00007-10 B OB
S B H0-0018
HoT Ty iER STL01018 ﬁlﬁ I ﬁ ﬁﬂi 2% ML %0 -00138%
4 t ik BRI - BAF (ERYEE) 1 i =
4 Fr b5 A % & | B 47 H il & 4 =z
i TTPC00013
NI — ) — (5 b e —uiah) 5.40 L
— KB F RTPC00007
0.17 A
T vT w0 MTPC00017
Fra—K--F—EnL 1. 00 R
4175
Z A YRR K1004
o7 rovr 4t RIEF 1.00 FRFfE)
k ok BTG Y sk ok 1 R
A=2 4 t TE% B=1 PRI - BAT
c=1 EL (B8
REHEEE (BRRIN V) = 135.000 (KW) X [0.040 (ZkhE#=) = 5.400 (L h)
06—s%30k%—-00007-10 B B &



STF02020

j}/@ I % 'fﬂﬁ i% ML %50 -00145%

E0-0019

BT N7y 7 iERA t B
* PEEfEAT. 6km PR B AT 1 m 3 ER)
4B B e X # &2 | B o4 B il & kil %
X7 NT U iEER STL01018 ML £0-00138%%
4 t Bk 1.00 LS5
TR - BT (LRE)
1m3¥%y +00
m3
TR GER TRV
KR BEATY D ok ok 1 m 3
A=2 4 t TRk B=13 *
c=3 N yrky re=71L5%0. 28m3  (FEAS0. 20m3) [HE2] D=1 BRI - BIF
E=47.6 TEHREREE (km) F=3 LS DHEE (B =4.8)
BFRIY D ESR TR VT =60 x Q *xE / CM
=60 % 1.900 % 0.9 / 245 = 0.420 (m 3 h)
PAINEAL M= B *xL+ «
= 4.800 % 47.600 + 17 = 245. 000
Q: fE# & (m3)
E: {E¥EshE
L : JERREEEE (km)
B EHRRIRIZ X BHR%K
o @ BOAFDOMMOEEI L HIRE
06-skkiolok—00007-10 B m R




